If log; x . log, 2x. log, y =log, (x2), then y equals to

9
@ 5 (b) 9

(c) 18 (d) 27
log,n .
is
08ap 1t
(@) 1+log, b
(b) 1+log,a
(c) Both (a) and (b)
(d) None of these
If log,, m = b —log, n, then m is

The value of

(a) L (b) 100 n
m

100

(c) b-10" @ —-

Iflog, ax 1ogy x = log, a, then the values of x and y are
respectively

(a) bandc (b) cand b

(¢) canda (d) band a

If (log, x)%+ log; x <2, then which one of the following
is correct?

(a) 0<x<l (b) l<x<3
9 9

10.

Logarithm

1
(¢) 3<x<0 (d) §£x£3
S B , Ny
is equal to
log,(2)  log,.(02) logo (mz)
(@) 1 (b) 2
(c) 3 (d) 4
The solution of 2 log (x + 1) — log (x> — 1) = log 2 is
(a) 1 (b) -1
(© 0 (d) 3
If loga = logh = loge , then find the value of
b—c c¢—a a-b
a®. bb . s
(@) 1 (b) 2
(©) -1 (d 0

75 7 105 13
If log—+2log——log———log— =0, then find the
g35 g5 & X g25

value of x.
(a) 90 (b) 60
(c) 13 (d) 45

If x +logs (1 +3*) =xlog;s 5 +log5 2, where x is an
integer then what is x equal to?

(@ -3 (b) 2

(©) 1 (d 3

®| 2 @3 |@| 4 @] 5 b




Logarithm

1. (b) log; x.log, 2x.log, y = log x?
=logyy=2log . x {.log,b xlog,c=log,c}

=logyy =2
=y=32=9 {wlog,b=c=>b=a}
2 () log, n lognxlogab 10ga+10gb
logg,n  logaxlogn loga
142080 14 1og b
loga

3. (d) loggm =b—logyn

= b =log|qym +log,on = b = log,,mn
b

= mn =100 :>m—10
n

4. (a) Givenlog,a x logyx =log,a
loga y logx loga

logh logy logc
:>10gx:10gb

logy logc
=>x=bandy=c

5. (b) (log3x)2+log3x<2

Letlogyx =y
=12 +y-2<0=>@+2)(y—1)<0
=>-2<y<l=-2<logzx<l1
=32<x<3!

= l<x<3
9

1 1 1
+ +
log,, (xyz) log,, (xyz) log, (xyz)
= logx - (xy) + Ingyz (yz) + Ingyz (zx)

10gxyz () (z) (2x)
logxyz (xyz)2 =2 logxyz (xyz) =

6. (b)

7.

Explanations

(d) 2log (x +1)—log (x* — 1) =log 2

(a) Let

(©)

2
= log (x2+1) =log2
(x*=D
X+,
x—1
=>2x-2=xt1=>x=3

loga logh logc iy

b-c c—a a-b
= loga =(b-c)k logh = (c—a)k logc=(a—Db)k
— g = b )k’ b :e(cfa)k’ c = ela—D)k
So, a%. bP . c*
= ptb—c)k oblc—a)k pcla—Db)k
= elab—ac +bc—ab +ca—bck
=l =

105 13

75 7
log 1=+ 2log -~ log — ~log == =0
B35 RS 525

lo E+10 £+lo +1lo E—0
= OB TR T8 05 T O 3
49 x 25

7
= log—x—x—x—=0
35 25 105 13

35 25 105 13

10. (¢) x +logys(1+3) =xlog;55 +log;s12

= logy5 15" +log;5 (1 +3%) = log 5 5* + log;5 12
= 15°(1 + 3% =5(12)
=31 +3%H=12
=32+ (39-12=0
=3*+4)(3*-3)=0
=3 =—-4or 3=3
=>x=1 {" x is an integer}

{*. 3* can never be —ve}
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